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2
Formulae Sheet: Foundation Tier

Area of trapezium =  (a + b)h / . "_\

Volume of prism = (area of cross-section) x length

PLEASE DO NOT WRITE ON THIS PAGE
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3
1 (a) Write 4028 in words.

]:ou(‘ tkousana( and t:wo«é-:“ e‘.ﬁl'\@— [1]

(b) Write thirty five thousand and four in figures.

___ >004 1
(c) Write 6814 correct to
(i) the nearest ten,
(c)i) é glo ]
(i) the nearest thousand.
(i) Tooo ]

(d) In the number 32 745, the 3 has a value of 30 000.
What is the value of

(i) the 4 in the number 32 745,

A(d)(i) 4-0 [1]
(i) the 7 in the number 32 7457
(i) /o0 1
2 (a) What percentage of the diagram has been shaded?
_L a
+ =25/
(a) LS % [1]

(b) Shade in one more of the small rectangles.

l

What fraction of the diagram has now been shaded altogether? ——— = -z
Give your answer in its lowest terms. i 3

(b) 3 2]

(c) Write % as a decimal.
(©) O-75 [1]

Turn over
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Millimetres Grams Kilometres Centimetres

Kilograms Metres Litres Millilitres

Which of these metric units is best to use for measuring

Mhimelr
(a) thelength of a pen, (o milline es)

(a) CQV\‘(’IMQHQS [1]
(b) the weight of an egg,

(b) Groam s [1]
(c) the capacity of a small drinking glass, ,

(c) Mtk lH‘ch [1]
(d) the distance from Chesterfield to Dover,

(d) Kilom etveg [1]
(e) the weight of a large bag of potatoes? .

(e) ki lbiraumf 11

Anya is throwing darts at this target.

Here are her scores.

9 3 2 3 6 8 7 2 3 4 9 4 5

Moo‘{_' Ocev’s mof e— o ‘é‘(‘(V\

(a) Find the mode.

- (a)

(b) Describe how you would find the median. (You do not need to work it out.)

Pu(' Elem 1w order O‘G Size a~A c‘wasc t“\c m;‘d(#“,{
(bem . T4 tlere Tt nok a middle 1bem chovte Ehe
Avernge ot tte mAddle o tbems 2]
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(a) (i)

Sally buys two magazines, one costing £1.25 and the other costing £1.99.
She pays with a £5 note.

Work out how much change she should get.
£1.2¢ +4£1.14 = -é‘s 24

...........................................................................................................................................

(ii) Sally likes reading Romance books.
They cost £1.45 each.

Work out the largest number of Romance books that she could buy for £10.

410 % £1.4C =6.39SS

..........................................................................................................................................

Seo covld Lu onl é

(i) é [2]

(b)

BOOKS & €0 [N\

SENIOR CITIZENS
DISCOUNT 10%
WEDNESDAY ONLY

On Wednesdays, Mr Green can get 10% discount at the bookshop.
Work out how much discount he should get if he bought a book priced at £12.00.
’
100 of £12.00 = £ 1,20

...................................................................................................................................................

©OCR 2009 Turn over



6 (a) Measure the line GH.

(a) 7-3 cm [1]

(b) Draw a circle, radius 3cm.

Mark, with a cross, a point on the circumference of the circle. [2]
Ar\qa Pd ;v\ e
on the cirele
I{ an ‘(7&
Circomference
(c) Draw and label an angle of 37°. [2]

37‘”

(d) Draw in all the lines of symmetry of this shape.
\

B

[2]

© OCR 2009



7 Here is a number machine.

INPUT — x2 -3 —OUTPUT

(@) (i) Work out the output when the input is 2.

...........................................................................................................................................

...........................................................................................................................................

(il — [1]
(iif) Work out the input when the output is 5. =9 +3
............................................................................... e =

...........................................................................................................................

(i) 4" [2]

(b) Complete these number machines.

3——| x2 | ——| +4 |—=10

[2]
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8 (a) Simplify.
() y+6y+2y

...........................................................................................................................................

(a)i) T4 [1]
(i) 5x—2x+4x
(i) HEes [1]
(b) When f=2 and g =5, work out the value of _
3f+ 2g. R)4+2(8) = € +10 =1p

...................................................................................................................................................

(b) l6 [2]

(c) (i) Write an expression for the total cost, in pence, of x pencils costing 40p each.

(©)i) 40X _pence

(ii) Jayne has y pens. She buys 12 more.

Write an expression for the total number of pens she has now.

i + (2
(i) (:\J [1]
9 (a) Find the value of v2.25. l f
(a) . ]
17 . ,
(b) Change —— into a decimal. -
100 b) O-177 (]
3
(c) Workoutg of 145, 14 2§ X 3 = ?7

...................................................................................................................................................

...................................................................................................................................................

..............................................................................................................................................

ae EL2C al
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10 Ravi did a survey of the types of vehicles that travel on the road outside his house.
Altogether, 180 vehicles passed in the time that he was watching.
The pie chart represents the results.

Motorbikes Lorries
2 NOT TO
] SCALE
48°
Buses
Cars
(a) What fraction of the vehicles were Lorries? {
— .
(a) s [1]

(b) Work out the size of the angle for Cars.
NoT T0 SCAk SO Zo mdT O(E Pre TRACTOIR

...................................................................................................................................................

o - 18°
C'04-7'l+4? :2.'0 ZLO—Z'O’ g(;) I(_O 0[2]
(c) (i) How many of the 180 vehicles were Buses? AR
1RO vebidy Z366% 7. 5. 2% s
- : D
so 1 velida =362_5e 24 [

Ito

...........................................................................................................................................

AR 2 _4 2 = _ [1]
o 130 w05 e
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11 The distance / time graph represents Andrew’s bike journey when he visited his Aunt.

A

7
: -9 :
g \
5 4 \
B .
Distance from 4

Andrew’s home
(kilometres) /
2

1 \
i/ \

10 20 30 40 50 60 70 80 90 100 110 120
Time (minutes)

Qo —40 =§9

w

(a) How long did Andrew stay at his Aunt's house?

(@) So  mins[1]

(b) Andrew was travelling fastest between points A and B.

Explain how you can tell this from your graph.

Stepe of qeaph (s gheepest

]

(c) Explain what happened at B.

He_ S IOwgJ JON-’\ Eo Iowu S'!)Q_QJ

]

(d) Explain what happened at E.

He arcve Whowme
]
(e) Work out the total distance that Andrew travelled.

............... G wm b Aud's hwse  Gkn bade home
............................. R Rt LA <
(e) ’2~ km [1]

© OCR 2009
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12 (a) The smaller rectangle is 7cm long and 3cm wide.
The larger rectangle is an enlargement of the smaller one using scale factor 3.

Write down the length and width of the larger rectangle.

3cm

7cm . q

cm
NOT TO
SCALE
2 cm
(2]
(b) Winston thinks: “In this diagram, x+ y = z”
NOT TO
SCALE
X V4
Here is another diagram.
NOT TO
SCALE
() Workoutthe sizeofanglet. |80 — ( 37+ '71)
o
.................................................. SR = oA e,
o
oo °[1]
(ii) Work out the size of angle r. . .
136 -1 = og
o
@___ 104 °[1]
(iii) Use your answer to part (ii) to see if Winston is right or wrong.
Wingboa i¢ right v =104 = T47%
(2]

© OCR 2008 Turn over
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13 (a) Sophie hires a mini digger to landscape her garden.
It costs £75.50 for the first day and £52.50 for each day after that.

Sophie pays £285.50 altogether.
227556 - £70.50
= 4210

For how many days does she hire the mini digger?

(b) Tony won £800 in a competition.

He gave 1 ofitto his wife, 1 ofit to his daughter and kept the rest.
4 5

What fraction of the £800 did he keep for himself? .J- 4 ,’ — E_ﬁ- - ﬁ
Y 20 20
................................................................. ,_J_L
.......................................... = 2o 2 %6
R
g
(b) Zo [4]
14 Josh painted his bedroom.
Complete his paint bill by working out the three missing values.
Paint Bill
3 tins silk emulsion @ £17.99 pertin £ 3 3.4 7
2. tins gloss @ £11.99pertn £23-993
Total cost £ 77.95
[4]

7.4 - €7.47 T 21.4&
22.9¢ < N.?9 = %

© OCR 2009
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15 15 women each changed a car wheel.
These are the times taken, in minutes.

22 15 13 17 22
8 16 21 7 10
12 33 9 18 22

(a) Draw an ordered stem and leaf diagram to show these times.

OlE 7 T
M3 76028 .. Ol 789
2lz212 |]lo2 3567%
33 ..................................................... >l 1222
B
Key: Ilé = 16 wavteg [3]
(b) Work out the median and range of these times.
s 2 5 28T L
B et ® T X Wt Al S
(b) Median = I é> minutes
Range = 26 minutes [2]

15 men each changed a car wheel.
The median time taken by these men was 16 minutes.
The range of their times was 33 minutes.

(c) Write down one comparison between the times taken by these men and women.

‘r."\( e L\ow( Hc Sa~e M.o(;’h.\ ("u-..c &l &kg o in

O The wea hao o :wul'-d range ot Eimey (1]
Eun tle vwomen

©OCR 2009 Turn over
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16 (a) The nth term of a sequence is n? + 2.

Write down the first three terms of this sequence.

...................................................................................................................................................

...................................................................................................................................................

(b) Another sequence begins
7, 11, 15, 19, ...

Write down the nth term of this sequence.

..................................................................................................................................................

..............................................................................

(b) A-n 4"3 [2]

17 (a) Find the sizes of angle a and angle b.
Write down a reason for each answer.

Ca >~

" NOT TO SCALE
(142> »

a= _ 142  °Reason Ve l’tt'xl(u, &pfof'+( “hf\(l: are <10«.’
N—% 9 {
b= —G7_° Reason al (‘{,Itm\,{'( ‘\--3% Qe Q.qp va | [4]

© OCR 2009
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(b) (i) The sum of the interior angies of a reqular pentagon is 540°.

Without measuring any angles, explain why this is true.
Toherior A’né\‘:) ot ‘p«lfgcm
add vp b 4te A-»_«,L-esv W:
K ér;a-\gl,e,g
= 3180 = $40°

[3]

(i) This is an irregular pentagon.

NOT TO SCALE

Work out angle c.

G0 + "X A+ 1T +40 =383

...........................................................................................................................................

(iii) The area of another pentagon is 4.5 cm?. [en 10n
| Y28 o
Change 4.5 cm? into mm?2, C ‘ E‘ e

...........................................................................................................................................

TURN OVER FOR QUESTION 18
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18 Simplify.
(a) t2xt7 = € -

OCRY

RECOGNISING ACHIEVEMENT

Permission to reproduce items where third-party owned material protected by copyright is included has been sought and cleared where possible. Every
reasonable effort has been made by the publisher (OCR) to trace copyright holders, but if any items requiring clearance have unwittingly been included, the

publisher will be pleased to make amends at the earliest possible opportunity.
OCR is part of the Cambridge Assessment Group. Cambridge Assessment is the brand name of University of Cambridge Local Examinations Syndicate (UCLES),
which is itself a department of the University of Cambridge.

© OCR 2009




